QUESTION BOOKLET
This question paper contains 200 questions. / SH I T H 200 Y99 & |
Il questions are compulsory. / &Y sre 3ifam # |

One question carries half mark only. / T ¥ &% f%'f'lm 3TN 375 2 | 1
Maximum Marks : 100 =+ : 100

HAftremaw
‘:l}ne : 2 Hours w4 : 290
+ ‘Judicial Review’ function of the Supreme Court means the power to
Teview its own judgement ,
review the functioning of judiciary in the country
examine the constitutional validity of the laws
undertake periodic review of the constitution

ST TR F1 HH = T w1 a7 2 T & Wi & |

(B) T & =qrrrfere < wriwome ) wten
Sy .

,}:/ Which amendment restored the power of judicial review\to the Supreme
Court and High Courts after it was curtailed by the 42™ amendment ?
(A) 42 (B) 43¢ (C) g0
A G 3 et e sk 3w e i i
I TR < e ot 3@ 423 S g R T T e 2
(A) 42sf (B) 43af (@) 44t (D) 56sf
‘}/ For election to the Lok-8abha, a nomination paper can be filed by
A) anyone residingiin India

a resident of the.constituency from which the election is to be contested

any citizen of India whosé name appears in the electoral roll of a
constituency.

(D) anycitizen of India
TG o, 9T % I e v v g o wmn
() P o o P et e e g e
B <l BEEET SEIGH
fc% mmaﬁﬁ‘-ﬂmﬁmﬁamm%gﬁa & fratees et § 3ufle &
(D) ¥Ra &1 %% ¥t Juris
4<~ Which is not a source of revenue to the village panchayats ?
(A) Property Tax (B) House Tax (C) Land Tax (D) Vehicles Tax
|1 U 914 % o 31 1 0 & T8 2
y (A) WRFR  (B) FEEHR  (C) Y(fN): (D) T
5 A Union Territory does not have

i B) arecognised official language
%} : gggg?lnormdministrator D% an anngunal plan outlay s
U §Y e &1/l T B /21 2 |
(A) Ty (B) TT=IaT WTH SR TS
(C) TSIITEA/ITES (D) T FsHrTa iy
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. ] ise about
@/ Of the total population of India, Christians comprise a
WRA 3t el a3 4 3618 * e GATEE © |

o
(A) 2.5% x (B) 3.5% (C) 4.5% D) 5.5%
7. Separation of powers is best illustrated by the e,
\/ (A) Indian anstitution (B) Swiss Constitution
(C) American Constitution D) British Constitution
el 35 orET o gt g PR ol T E |
(A) W wfum (B) wig dfaum
(C) 3mfer iy (D) farfem aferem

8 After a no-confidence motion is admitted in the Lok Sabha, 2 date for the
debate is to be decided within D) 304

(A) 7 days (B) 10 days (C) 15 days ) ays
mﬁyaﬁwqmamﬁémmﬁm@ % 3G 79 ST B |
(A) 71 (B) 10 () 15fa (D) 30f

{  Government imposes taxes to
(A) wuplift weaker sections
(B) check the accumulation of wealth among the rich
(€) run the machinery of the state
(D) None of these
TR LT &
(A) FESIR 7 % eI & foTQ
(B) waRl o e dufts gere  Fem 2
(C) T o TeTH & Terg

(D) ¥ & =IE 7
10, Which is not required while computing GNP ?
(0] Pet copits Ingome of olizens (D) Pureicvestoment
Wit ). 35 O S AeE T R @ R 2 0 Brioas by Goveminerd
(A) & Freeht B) fh i
(C) il &l i =afth A (D) HTHR GRI et <t e

\1,{./ Zero based Budgeting lays emphasis on

_ A %Inlimi_ted cﬁrzgt (fj‘inatnthgt N
(B) Preparing new budget right from the scrat

C) Preparing the budget neglecting the hiStDr;th)ix

D) Both (A)and (C) X

I TG ooTeA 76 T AR &l &

(A) e are w1 faxdiiE

(B) T Rt (I IMUR) & 741 q9 T, ey
(C) =4 % Ffaer 1 IUTRa Fh w9 T ey
(D) (A) 3T (C) T
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_A2. Who among the following is most benefitted from inflation ?
EA Government pensioners ng Creditors
C) Savings Bank Account holders (D) Debtors
| TR Te) AT fergen! B R 7
(A) TR Ig (B) @ER

(C) =<d @IiaTe @aer] (D) TER

P4 Prior to full convertibility of the rupee, the convertibility ratio was
¥4 o ot witadaen & g, gRadeaa smdm o
JA/. (A) 40:60 (B) 60:40 (C) 30:70 (D) 70:30

Planning in India derives its objectives from
EA Fundamental Rights }B% Directive Principles of State Policy
C) Fundamental Duties D) Preamble

WA | IS I 3299 981 & ITH B :
(A) Iend Il (B) U= +ifa & fews oo 1%%1
(C) Hend Hdew (D) W& Ol
UK. The strategic aim of IRDP is
{Si to reduce unemployment
C

to provide the required inputs for increasing agricultural productivi
to provide more opportunities for rural employment & credit facilities

at concessional interest -
(D) None of these

ST EL Y. 1 gl 3evg &
(A) ST = "er |
(B) Y ITGHAT T + foTT 31mevas s9qe 37 |
(C) wHIwr TSl & S7feres avar &1 37N et samr o s gy 31 |
(D) 78 A 518 7

16~ The committee on Distribution of Income and Levels of living was presided
over by hpexams.in
A) Deshmukh B% Dr. Swaminathan
C) Mabhalanobis D) Karve

3 % fro etk ffe & s % a7y 9
(A) TIqE (B) . w@mHRA (C) WerieE (D) 9
1/7./ ‘Limited Liability’ means : '
A) The number of shares in the company is strictly limited
B) All shareholders have the same llabi?i,ty for the company’s debt
Sharcholder is only liable for the debts of the company to the extent of

€ the unpaid value of his shares L R s
(D) All shareholders except ordinary shareholders enjoy limited liability

Hifera g w7 37 |

(A) o F 37F 1 qEa vy Hifg 8 |

(B) Ul & U1 % ford @il srsramni 1 TAAE | ) _
(C) TN I FG O U1 o V1 & Tord Iegrlt & Foram e 379l o1 e

|
(D) mmﬁﬁgmw toreTes Hift e Frma € |

S —— —— — — —
i ——
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1'8/ ant that

- By ‘trickle down theory’ Indian planners me
(A) poverty alleviation is not possible as it trickled down from sector to sector
(B) growth rate of the economy does not relate to pD}’ﬂrty alleviation
(C) poverty alleviation is gradual as the growth rate ncrease
(D) None c;f;i;%ese
Tt S137 241 gra Tt ARl T AT
(A) TR g v 7 & i g 8 A egI-oiieT O &R & |
(B) arefsaaen ) Ry ot i I A wafew T8 ¢ |
(C) et Iy swfiren & werfly frshra Al 8 | 4

F (D) T8 Q $E 7
9. Division of labour is promoted by
(A) Limited market (B) Perfect market
(C) Extended market (D) Price discrimination
1 feve e g wea ®

(A) Hiftmsem (B) TemR  (C) fi@@ =R (D) #Ha ¥ e

\39/ Balanced economic growth can be achieved only if
(A) basic and heavy industries are assigned highest priority
(B) all the sectors of economy grow at the same rate
(C) all the interdependent sectors grow in harmony

(D) population growth is arrested
i T Tk ot aran 5T & 5=

(A) T R 9T 2T i I=an sl d T |
(B) arefezrare 3 @t & a0H LA G |

(C) w:ft wret fonft @ arerder 5 w¢ |

(D) SEE gis ¥ A ¢ |

\_;1./ IRBI is the principal agency for the reconstruction and rehabilitation of
(A) Public sector undc;rtakmgs (B) Small scale manufacturing units
(C) Sick industrial units (D) None of these

a7 TR A, S, $aeh gAY 3R et % ford .
pd (B) WM'

(A) TTHTH &= ITHH
(C) #fam afrenfrE ghe (D) T & Frf et
\3/ The first cooperative mow_vcment in India was initiated in
(A) Agriculuual.n‘la_rkenng (g) Agricultura] il
1 fies
S:lc'l:'{?ﬁ %‘"%ﬂ% ;ﬁm Y g éa.% g]i; ﬂsu@er co-operation
(A) PRFOHE B) FRww
(C) e for forama (D) I

—
— —— e g s
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\33-/ Which of the following agricultural holdings have the largest percentage in'

India ? .
(A) Large holdings Eg; I%{Imal I' holllcin}?
(C) Medium holdings . arginal holdings
W B Pt 3 @ R R ot i wafRy R e & 2

(A) Thdd (@) BAER  (C) WEEIRI (D) @R

\2/1./ The strongest evidence that comets are members of our solar system comes

from

(A) their composition (B) their effect on the lives of man
(C) the shape of their orbits (D) the shape and length of their tails
Wﬁ%w%wﬁ,mmwmﬁm%: oy
(A) JEHI =T © (B) HME g W IGHT 3T

(C) 3T w8 F TSN (D) 36 Y=3 hi TaTS SN ATHR

25./ Only one side of the moon is ever seen from the earth because

(A) the moon is at perigee

(B) the moon does not rotate Eﬁg
(C) only one side reflects light '
(D) the periods of rotation and revolution of the moon are equal

geat A =iz i R o wigs g et 2, i
(A) TEITE |

(B) T HRATTEI 2 |
(C) ford ws A1gS Yoty Ryafeia el & |

(D) =g 1 TRWHU 3R GiGRA 1 8T T E | _ _.
267" The Earth turns through 360° in 24 hours. Each longitude represents . =~

(A) Half an hour (B) Forty five minutes o5
(C) One hour (D) One hour fifteen minutes -
geaft 24 52 § 360° 7 Y1 § | I Ui § | X
(A) 41 Eel (B) 45™ -
(C) T el (D) T U2l e e

27 Countries favourably inﬂucnded'by westerlies are
(A) Western Europe, British Columbia and East of U.S.A.

(B) South-West Africa and South Chile
(C) New fif_".tialand |
(D) All of these |

31 g % i gRaeng -
?ETWW & YTt %IIHR. wEHm
(B) fo-afvem 3mshieh 3T TR .
(©) s i 5l
(D) A=t
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\2/8./ The primary rainbow has an angular radius of
U Uy 91 Hivfig B 2l
(A) 22)2° (B) 42° (C) 60°

\39/3 The blow outs are formed in sandy deserts by _
(A) Abrasion (B) Attrition (C) Corrosion
i) worre 3 5H g ATaTd & 8 | _
(A) Fvasm (B) dfymdmr  (C) WERW (D) HATEHI

367 The North and South Equatorial Currents are caused by

(D) 75°

(D) Deflation

(A) Difference in temperatures (B) Equatﬂriali (_Zlimatf: ’
©) 3’%_{11& prevailing Trades (D% The prevailing Westerlies
IO 3R grequT e ST $6h ST gl 8 :
(A) A9H H geaE (B) fegadid gt
(C) fineht gamd (D) feht dgEIEEd
-M{ﬂ The Llanoc and Campos of South Americaare.examples of
(A) Coniferous forest regions (B) . Deciduous regions
(C) Equatorial regions () Savanna regions
feron ST & S N HE & JETB & |
(A) E@Pammﬁﬁu%m (B) TUiTT W
(C) Tagadia wew (D) FEFTYW
32" Which strait conneets Black Sea and the sea of Marmara ?
(A) Palk strait __ (B) Malacca strait
(€) Bosphorus strait (D) Bering strait
I Ef ST ST T3 I S HEE e @ 2
(A) I SiEE (B) WeH ey
(C) SEBRE SerEfy (D) =feT rerafy
\33./ The Hawaii islands are the top of submerged
(A) block muuntainsl (B) folded mountains
(C) volcanic mountains (D) dome moun taing

TS 21 eTH o
(A) =fwgdd  (B) Wless WA (C) B T4 (D) g e

\34-/' ‘Nikora pass’ is located at the border of

(A) Mandi ~ Kuliu (B) Kully— -
(C) Kangra— Bharmaur (D) Lahaul — w:
JECA TN HdmmfRad | 2ul - Kinnayr

(A) & -Fe<], (B) T~ FSI (C) ey —
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The famous Sandu Ground is located at

(A) Hamirpur  (B) Bilaspur (C) Mandi (D) Riwalsar
g 95 198 iR g |
(A) TR B) feemmm  (C) @ (D) ParE

Q{ According to the gazetteer of Kangra, how many people died in Kangra
earthquake ? ‘
TSI % TToTe ¥ IFTER HITST % g o fham w6t geg g3 ot 2
(A) 18314 (B) 19506 (C) 20708 (D) 21312

37, From whom the family idol ‘Raghubir’ of Chamba rajas was obtained by
Prithvi Singh ?
(A) Shahjahan (B) Jagat Singh (C) Sansar Chand (D) Desa Singh
e fifg 0 o < Crai R o A e Prefio 7
(A) YESTEl (B) wmafdg  (C) ¥ERET (D) <ar fég

@{ Which British officer setup the Shimla town in 1819 A.D. ?
(A) Henry Cunningham (B) Lt. Rose Belt

(C) Lord Amherst (D) Lord Willington
1819 3. & form forfermr arifther 3 fRren wret wenfira foram 2n 2

(A) T HHE (B) W%.qWAR (C) I TR (D) @i faferen

Freedom movement was more active in the areas under

(A) British control (B) Princely rulers

(C) All over Himachal (D) Confined to areas bordering Punjab
W= A % i feream ® afires afma o |

(A) Tafew frmm (B) T Imaeh]

(O U ELIE (D) 99TE & Wmrad] fawan @ Hifta

40, In which year Himachal Pradesh Non-gazetted employees federation was
set-up Apexams.in

frg a4 8 feurae wem M-Tefa e |9 s gam o 2

(A) 1948 AD (B) 1954 AD (C) 1962AD (D) 1966 AD

\51./ Who among the following were the earliest inhabitants of H.P. ?

(A) Kolis (B) Aryans (C) Gaddis (D) Khasas
£ 1§ QB e 9w & urdiad frandt € 2
(A) wre (B) A €) T (D) @I

The famous temple of Vindhayavasini is located at
(A) Bandla (B) Kaihrwin  (C) Mehlog (D) Nayari
i <1 Wb #iet R ? |
. (A) wreel (B) FrWH (C) WEem (D) =t
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43/ Sh. Prem Lal of Chamba was a famous

(A) Painter and designer (B) Dancer
(C) Instrumentalist (D) Sculptor
=T % off I I wiig & |

(A) Frsr 3R arfrerees (B) %
(C) s (D) AR

447 In which year an *Agrarian disturbance’ took place in Mandi ?
wog) & o o 3 ey fvemhy gamT o 2 a3
(A) 1888 (B) 1909 (C) 1929 (D)

457" What was the overall literacy rate in H.P. in 1951 A.D. ?
1951 3. 3 Tewmerer wew 3 st wnerca g =t ot 7

(A) 7.98% (B) 8.5% ©) 9.33% (D) 11.57%
@‘f At present Pahari language is written in which script ? '
(A) Tankri gg' Urdu (C) Persian (D) Sanskrit
TaH H wgTet s e fafd o ferelh it & 2 _
(A) Tt (B)., 3¢ (C), e (D) wE&pd
. The Institute of Food and Crafts is located in Shimla at
(A) Naldehra (B) Kufri
C) Chhota Shimla (D) Shogi

T @ 31k Rrey gem AfRme |
(A) TEET (B) FWHU (C) B Bmen (D) wfi
48" Raja Jagat Singh was a famous ruler of

A) Amb Mandi C) Nu
‘Eﬁ%ﬁf‘]ﬁ . (B%; g a1 & I( ) rpur (D) Bushehr
(A) 3 (B) wve () T (D) T
497  The limb bones of children become bent d : . 5. VT
4 m-mﬁﬁﬁﬁ%m/qﬁﬁ%g%ﬁ%e%?ﬁ%ffhmh vitamin ?
" (A) A (B) B (C) D (D') E
-5,0./ The blood vessel supplying blood to the kidney is the
(A) Renal artery (B) Hepatic artery

C) Pul arte D) Parot:
) %ﬁnﬁqﬁ%aﬁﬁmaﬁ'ﬂ%) arotid artery

(A) FEuT . (B) IFAERH  (C) Twpy v B o
517 Which is an example of tissue ? i

A) Brai (B) Blood C) Li '
gm]m;‘%@ SeE 2 7 (©) Liver (D) Stomach
tiqA) AR (B) T © = '

D
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227 Which is responsible for water balance in human body ?

(A) Heart (B) Liver (C) Kidney (D) Lungs

wE T g & wger & R B Risigr 2 2

(A) &3 (B) IFHd (C) et (D) $%s
\§3./ Where Pituitary gland found in body ?

(A) On the base of heart (B) In base of the brain

(C) Inneck (D) Abdomen

¥ # Ry 5ify el arft s R 2

(A) TAF AT (B) wf&rh & et |

(C) T H (D) I
54./ In test tube babies, the B

(A) Ovum is fertilised and developed in test tubes

(B) Ovum is fertilised in the test tubes and developed in uterus
(C) Ovum is fertilized in the uterus and developed in test tubes
(D) Ovum is developed without fertilisation in test tubes.,

Y o v &

(A) e PR 2 3 off b o & R B 8 )

(B) 31wery] ¢ g | Ffd g & ofit muleg & s g0 & |
(C) 3rvgm maTeE & fifad 8 € s e & frsfm R & |
(D) e fem Frimm e oga 4 fepfaa B 2

éﬁ./ Typhoid fever is caused by
(A) Virus (B) Bacteria (C) Fungus (D) Allergy
T & HRUEIT R | |
(A) feumy (B) Sftary (C) wa (D) T

560 Why are the handles of metallic teapots made of wood ?
(A) Wood is a bad conductor of heat.(B) It does not cause elecltri(: shocks.
(C) It makes containers look beautiful. (D) It makes containers look clean.

Tt STae & e IR A 1 9 8 7
(A) THE T FAEF 8 | (B) 98 goifdes Y I T8l 3 |
(C) TEFod B GRIACE | (D) T8 FreT I HI% 1A & |

57./ Which is not true about X-rays ? . |
(A) Have low penetrating power (B) Travel with the speed of light

(C) Canbe reflected or re%racted (D) Can affect photographic plates
X froit % e wnadi w2 ?

(A) S afeh gl 2 | (B) T <l Tiid H Seid & |

(C) afda m skt 6 s aed € | (D) TPIITTRheh T <h1 3TER X Tl € |
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. use
56, Sound is heard over longer distances on rainy dﬂﬂstrt;ijs faster in moist ajr
(A) Sound travels slowly on moist air (B) Squp air absorbs sound |
(©) M%i%t gi;gnes not al;glgél% D) Moist
T EEEIEE R, st Ay
(A) 3T 7 3 eafy weenfy @ et & | (B) ﬂlﬁﬂﬁgﬁﬁmaﬁ;ﬁ“'
©) ST ER PR | (D) IREN

\_§9-/ The wall of the dam is broader at the base
(A) Because streamlining is required
(B) To withstand pressure that increases with dE}_Jth
(C) To withstand pressure that increases in a horizontal plafte
(D) To withstand pressure that is increased with atmospheric pressure

YR R =7y F} dar 9t 2t 2

(A) =i aToEs aTayg | “

(B) =& T=IE U & ol ) e & e weal & |

C) REFIT TR RTarmadTeamit |

(D) 5% @ U % ford <) argrveeia g % @y wEar g |

69./ Atomic explosion is triggered by

(A) Thermo nuclear reaction (B) Chemical reaction

(C) Controlled chain reaction (D) Uncontrolled chain reaction
THVE T Johied AU TGRSR

(A) TR SThvheaT (B) tETaRe iy

(C) fafra s@en srffen (D) i sen sfifra

61" To protect the iron from getting rusted, the coat of zinc is applied on it. This
process is known as

(A) Galvanization(B) Reduction (C) C . T
ﬁ% I W T W UHhA & o1 7 =1 Wﬁ?ﬂ'ﬂ?:%%nl R (D) Calcination

HEAT &
(A) TWEHW  (B) TR (C) s (D) frm
Vinegar and Baking Soda together produce
(A) Copper (B) Carbon dioxide

" C) C 3%2%%}#%1;1%% mﬁﬁ?ﬁﬁm) Magﬁesium oxide
A) -eﬁm (B) e greasy
(©) FR AT (D) ¥ itoree
-63-/ ‘Which metal is extracted from sea water 9

i Beryll; .
%ﬁ%ﬁgg% %)ﬁﬁ?%e %"%mﬁé? rotassium (D) Aluminium

(A) wAfREm (B) sfferm () TRy
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. Which i highest peak in India ? ‘
,@4/ ich is the highest pe (©) Nanda Devi D) K-2

(A) Kamet (B) Nandakot
i F wats Rrar s A e ? .
(A) FT (B) ¥EHIE (C) et (D) K-2
455./ Loktak is a
(A) Valley (B) Lake
(C) River (D) Mountain range
Al Th 2l
(A) =&t (B) ¥R (C) 7 (D) gdaHTEr
66 The Indira Gandhi canal gets water from which river ?
(A) Satlej and Beas (B) Ravi and Beas
(C) Ravi and Chenab (D) Beas only
=2y witelt gt ) i o TRl @ T freran 8 7
(A) Tl 3R =T (B) Tt 3T =™
(C) Tefl IR == | (D) Tk =ma
. Soil factors are also known as
(A) Biological factors 3) Geomorphological factors
(C) Ecological factors EE )) Edaphic factors
ET EALET ﬁ 3}& ’ﬁ ST STl % i'i_li"l_"'i-ii_-.';:-_ n
(A) Sfee FHh (B) Y-3ATHhideh HIH
(C) wftfeafos s (D) & SR
«68  Which is considered as the forest of world heritage ?
(A) Nandankanan (B) Kaziranga
(C) Sunderban (D) Indian botanic garden
fpgent fava aligt &1 94 7171 911 8 2
(A) EIHEA (B) Srsitom
(C) F&=T (D) Tt ey Sae

@}./1 Which is the upper house of Parliament ?
(A) Rajya Sabha (B) Lok Sabha (C) Vidhan Sabha (D) None of these
Fge FT FTA A DA A& ? |
(A) TsgEd (B) @man (C) fumaw (D) A wE A

{70~ What is the quorum to transact the business of Lok Sabha ?

e TT 3 GTeH % 1o7¢ TR fehert g =TT 2
(A) 1/6 (B) 1/8 (C) 110 (D) 1/5

13 Cude No. : C-843/2022/Series-C




Jl"/- Who among the following started Marathi fortnightly newspaper ‘Bahishkrit

367

Bharat’ ?

(A) Dr. B.R. Ambedkar (B) Vir Savarkar

(C) Vinoba Bhave (D) Lokmanya Tilak
o 3 3 R e it T i i ST fo6e o 7
(A) ST 1.3, Az (B) R HAETH

(C) Torfian wa (D) e foeT

Who was the Nawab of Bengal during “Battle of Plassey” ?

(A) Mir Jafar (B) Mir Qasim

(C) Siraj-ud-daula (D) None of these

AT ) TSR S U STeT 1 9716 Hi AT ?
(A) TRSTR (B) Wnwmm  (C) Rum-3gden(D) ¥H A IS T

Structural unemployment arises due to

(A) Deflationary conditions (B) Heavy industry bias

(C) Shortage of raw materials (D) Inadequate productive capacity
AT SUSHTRY $Heh B0 BT & : |

(A) Imehifa fRfa (B) writ 3enm arfmEfy

(C) F=t it I HHl (D) 3TN IeATE &HeT

What was the main venue of the eighth International Day of Yoga

celebrations in India ?

(A) Gandhinagar (B) Mysore (C) Hyderabad (D) P
RA H 37136l SFaUgy 30 fead 309 %1 &7 ®F 1 9 251'*) e

(A) THAR (B) #@ (C) TeUER (D) WA

Which state has recently announced to conduct a *Mierati )
expand the data bank of expatriates ? 'gration Survey’ 1o
(A) Maharashtra (B) Kerala (C) Punjab (D) Guj

fpa =g Y w1 €1 8 Yol 22 9% @l g s g ¢ Gujarat

9 G “aTH HIO Sy ) Hyon
(A) Wy (B) (C) (D) T

‘Operation Sankalp’ which was in the news recently ; _ Ha
which armed force ? ly, is associated with

(A) Indian Army I (B) Indian Navy

C) Indian Air Force | (D) Indi

Saﬁtl’(m wa; St gTet § AuTET A A, a%%qn%%gﬁ(}"am )
(A) wreha & (B) e iy 20 SN E 7
C) ydmagE (D) T e o

Code No. : C-843/2022/Series-C = Shies b .



i i i ' ace
\]/7./ ‘Gaia Mission’ which was in news recently 1s associated with which sp

9.

80.

l}
?ﬁn%ﬁ',ahmﬁwﬁ o1, 9% form atafter Tt F T AT BIN R 72
(A) NASA (B) CNA (C) ESA (D) SpaceX

Which institution recently offered the skill based bachelor degree
programme for ‘Agniveers’ ?

(A) 1T Madras (B) IGNOU e
C) AICTE (D) Jawaharlal Nehru University
Hqe A iR & R wiee anufta wraes fef s g e en 2
(A) 1T wgT™ (B) IGNOU
(C) AICTE (D) VaTEEITe 8% favafaere™

As per recent notification, the 5G spectrum will be auctioned for how many
years ?

T 6 HgE & AR, 5G WagH it fray o % R Semd 2t 2
(A) 5 (B) 10 (C) 20 (D) 25
What was the theme of the *World Day Against Child Labour 2022’ ?
(A) Universal Social Protection to End Child Labour

(B) Rehabilitation and Restoration

(C) Importance of Education &

(D) Cm:pmitment to End Child Labour %ﬁi

aTe o < T fava feaw 2022, 1 g w2 '

(A) 161 58 1 @ W  for A wmfirs gam

(B) 3R Q.21

(C) e < g .

(D) a1 o9 Fl @R F BT They

74 ;
\81.  Which country has recently released ‘the most detailed Geological map of

the Moon so far 7hpexams.in

() Usa (@) Russia _ (C) China (D) Israel
_ %mﬁmﬁ%mmmmaﬁﬁwi—%ﬁmwmﬁmﬁm%?
(A) 3 TET, (B) & (C) =+ (D) T=REA

Which organisation recently created a Guinness World

) . Record for the
longest continuously laid lane of 75 Kilometres ?

(A) BRO e (B) NHAI
C) Indian D) L&TC i
i%:ﬁw%mﬂy?s %ﬁmﬁa&ﬁmﬁgmw%%ﬁhﬁtg%mwm
? .
(A) .30 (B) W.wH.U.a7E.
(C) v & (D) & wg & Frgwm
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\.33./ The ‘National Tribal Research Institute’ was recently inaugurated in which

State/UT ? .
(A) Karnataka (B) New Delhi
(C) Madhya Pradesh (D) Jharkhand

T ST STEYT ST o1 g1eq o fovey T /HTsiee H STHTE g3 o1 7
(A) FAleh (B) wfesht o () mAwm (D) FES

\8)( Iron is related to metal in the same way as Brass is related to

(A) Iron (B) Alloy (C) Copper (D) Zinc
AR o U @ Feft 2 s ag Ao gem e 59 4
(A) <& (B) fhsreng (C) afa (D) <&

\_&5/ 121 is related to 12 in the same way as 25 is related to
12198 128 Haftm 3 S ag 25 Geta e 5@ @
(A) 1 (B) 2 (C) 4 (D) 6
86« Missing terms in letter series
a_bc_c_abb bca are

qof Soft
acbc ~clabb bca HHAICE
(A) cccbe (B) cbbac (C) accba (D) abbba
87. Which letter is in the middle of 7® from the left and 7% letter from the right ?
(A) M (B) N (C) L (D) None of these
o wr ST S S wl S e
CETT Ay M (®) N © L (D) = & rd 7
887 h:,; certain code HOUSE is written as FTVPI, how is CHAIR written in that
: code ? 5 _
ffvaa 5z # HOUSE @i FTVPI fo@n st 2, & =it =
mﬁn? , 2 A CHAIR 9 33
(A) DIBIS (B) SBJID (C) SHBGD (D) sJBID

897 If water is called food, food is called tree, tree is cq]
- v H . M ed .
wall, on which of the following grows a fruit ? sky, sky is called

;%) wagr (3 g _ &) Sy - (D) Tree

U I 3, 3T ] 99, 9 1 SR, ATH 3 digp :
Framed tefmam? TR = A
(A) et - - (B) I (C) 3y ®) =
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/" In a rOW of 25 children fa
there are ten children be
end of the row ?

(4) 7 B) 19 (C) 8" (D) 5"

IWFW ESEéfﬁEt‘rﬁsﬁ st 3t Q 3R D & =9 &8
THE T ﬁﬁrﬁt&hﬁnﬁ%ﬁf%ﬁ)ﬁiﬂﬁ 2

(A) T (B) 193} (C) sat (D) saf

J¥~ Among P, Q, R, S and T, Q is younger than only S and R and older than T.
Who among them is the oldest 7 '

P,QR,SINTHRAQ, S IR RADI R sl TAa % | TR ATEA TSI HIT§ ?
(A) S (B) R
© P | (D) Data inadequate / arfre Fagiw

LQZ./ Pointing to a woman, Anil said, ‘She is the daughter of my grandfather’s
only Son’s wife.” How is Anil related to that girl ?

(A) Brother (B) Cousin (C) Father (D) Uncle
Teh Higell ! TR S i gY A S, “a) B gIg1 3 THATA o %1 Toil hl
a4 R 1 30 wiven | Ifra o gt & 2 _
(A) Wi (B) i (C) far (D) 3

‘?}.f January 1, 1992 was a Wednesday. What day of the week will it be on
January 1, 1993 7
(A) Fnday (B) Sunday (C) Tuesday (D) Thursday
Sl 1, 1992 i GUER o1 | S 1, 1993 i WHIE 1 i |1 f& € 2
(A) THIR (B) R (€) weR (D) TRER
Synonym of ‘Covetous’ is

74 (1{1)1 ThYIrI'ilﬂly (B) Grasping  (C) Hidden (D) Sheltered

5. - Antonym of ‘Autonomy’ is

(A) Submissiveness (B) Dependence E%E
(C) Subordination (D) Slavery GHS.

96 Correctly spelt word is - 2 ‘
(A) Judicious (B) Juditious  (C) Judisious (D) Judiscious
titution for ‘One who has suddenly gained new wealth, power
. One word subs P

o tige’ is _
(;gjrejﬁftncrat (B) Affluent  (C) Maverick (D) Parvenu

cing North, Q is eighth from the right end and
tween Q and D. What is D’s position from the left

4 it wi judgement.
8, If drink too much, 1t wﬂl___yuur.-‘u E ;
V(A};Dibstrucl (B) impede (C) impair (D) hinder
,”/' : : the post.
' Thev found him well qualified _____
—_— R 17 Code No. : C-843/2022/Series-C




wﬁ. Meaning of the idiom ‘To accept the Gauntlet’ is

(A) To accept defeat
(C) To suffer humiliation

!9{.
(A) On entering
(C) As he entered

2. Ever since his parents died, his uncle has all his needs.

(B) Toaccepta challenge
(D) To accept an honour

the room, the door suddenly swung shut and hit him in the face.

(B) While entering
(D) On having entered

P (A) seento (B) seenoff  (C) seenby (D) seen through

J03. The celebrations went __ very well,

(A) on (B) over (C) off (D) up
-U{ TE TR 2

(A) ET=H (B) @I (C) =&H (D) 9@
105 ‘o’ @ a g 2

(A) T+3@  (B) ¥+3@ (C) A+ (D) M+ 3
{% Wﬁl'ﬂ'ﬂﬁaﬂ?%:

(A) (B) W™ (C) Wit (D) i
107, ‘Fumany’ H wWra R :

(A) &% (B) wgsifz (C) wege (D) S
108, W18’ & WEAEH TR :

(A) (B) WImarg (C) ¥rSm (D) g
109 ‘T v i

(A) & (B) &d (C) &R (D) T
Yo, e 3 3wt

(A) (B) K €) T (D) T
Qe vtz 2

(A) fER (B) ftn (C) I (D) ufem
7A TRET R F AU & :

(A) —BTE S (B) foromr et g

(C) |E o 3eH (D) 3 W< T
113. ‘oA v @ | =T

(A) ¥f (B) s (C) amefy (D) wH AR T
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/standard Costing is a yardstick for :
(A) Measuinng efficiency (B) Controlling Prices -
(C) Reducing Losses of Business (D) Planning Business activities

A AT (T 50% e Arreve 2 -

(A) HTHEHT A F ford (B) s o i 0 o

(©) TEAF TR TGRSR (D) wwarR R AR e
15/ The type of standards are m

(A) Current Standard (B) Basic Standard E%

(C) Normal Standard (D) All of these

qTF & THT S

(A) 9IRS (B) §EERE (C) @mwA (D) AW

yﬁ.fThe ratio obtained by dividing ‘quick assets’ by current liabilities is called

1197 P/V ratio can be improved by

e ———

(A) Solvency ratio (B) Tumover ratio

(C) Acid test ratio (D) None of these

i ahaef ﬁmﬁiﬂﬁrﬁmﬁuﬁﬁﬁfﬂaﬁm TG &

(A) TUAETH AT (B) 3ad AU

(C) ufte & 3T (D) ¥ 3 g T

. Higher the ratio the more favourable it does not stand true for

(A) Current ratio (B) Stock Turnover ratio

(C) Gross Profit ratio (D) Debt-equity ratio

‘R AT e e’ s e we i @ 7

(A) =T I (B) HIA 3Eq STIITd

(C) Thel T ST (D) =RYI-HHAT AT
1‘1}-/Cnntribution margin is also known as :

(A) Marginal income (B) Marginal cost

(C) Gross Profit (D) Net Income

Sterer i gEd St ST SR ;

(A) dmr o (B) HERIEE (C) FFRATH (D) Y& A

(A) increasing sales price (B) variable cost

(C) lowering fixed cost ' (D) None of these
1/t aT g% @10 G ¢
(A) fash gor sl (B) uREd=efie s
L 0) Ruer@HeEl o (D) FHIA DS T
| s 19 Code No. : C-843/2022/Series-C




120, Comparing Budgeted costs to actual costs helps managers to improve
(A) Co-ordination (B) Contrpl
(C) Implementation (D) Planning .
T WA Y TR TG % Y GO SHaETIH B FURA | Heg
HFA R |
(A) aH=T (B) frmm (C) ufturer (D) AN

o
121. Hire Purchase system is governed by

(A) Hire Purchase Act, 1972 (B) Sale of Goods Act
(C) Installment Act (D) Properties Registration Act
HTHA ForTeht 38 g Frafa Bt 2
(A) I=Ra FfufEm, 1972 (B) wre <t fersht arftrfam
Z/C) forea st (D) forerea gafieor rfufan
1 Under Hire Purchase system, the retail price of articles is called
(A) MRP (B) Wholesale Price
(C) Retail Price (D) Cash Price

FIHT TS ®, TG 6 Gt hivd Hel A |

(A) WIRH. (B) 9FTE (C) $eH WM (D) e Himd
13}:’/ Factoring is a method of raising

(A) Long term finance (B) Medium term finance

(C) Short term finance (D) None of these

RECUIRSICIE- 2 HEgR R TERR |

(A) dufafam (B) wwmefufm (C) wgsmfyfm (D) =8 Q=i 58

yﬁ: The extent to which an organisation uses fixed cost on its cost structures is

called
(A) Overall Leverage (B) Financial Leverage
(C) Fixed Leverage (D) Operating Leverage

TS HH1 &l T T HeUT IGeH] AN =1 9T R A1Ta I0hT ¢ g} @
(A) T @S (B) faiadE (C) fRrdsw (D) whewm atw
yf. According to Walter, firm should pay 100% Dividend if

(A) r>k B) r=k  (C) r<k (D) N fth
dieet & SFFEN, FHO H 100% AT 1 9y gfe Pt

(A) r>k (B) r=k (€) r<k (D) ¥ & = 7

13«6./Cumpanies Act, 2013 consists of Sections.
wut arftfaem, 2013 & UIR |
(A) 250 (B) 270 (©) 360 (D) 470

e e . i, sp— it
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. official Liquidators are appointed from a Panel of Professional firms of

¥ (a) Chartered Accountants (B) Advocates
(€) CS and CMAs (D) All of these
A TREE 35 ey st 3 et @ Frges ol ST € |
(A) TS ITHRURH (B) TH

1 preparation of Consolidated Balance Sheet of Holding Company and its
subsidiaries companies as per

mwaﬂtmﬁﬁmdmﬁ%mW-wﬁm & AR

(A) AS-11 (B) AS-22  (C) AS-2l (D) AS-23
129 Which exchange rate will be considered for conversion of share capital of
v subsidiary company ?

(A) Opening rate _

(B) Closing rate |

(C) Average rate oo

(D) Rate of which date share acquired (actual)

frafa ot 61 stm g5l < s 3 forg @ i fafa oaw st 2

(A) SRS T

(B) Jfem &

(C) e

(D) T g w 3ty sfa @) fR TR @

1367 In the event of death of a Partner, the amount of general reserve is
transferred to the Partner’s capital accounts in

(A) New Profit Sharing Ratio (B) Old Profit Sharing Ratio

(C) Capital ratio ' (D) None of these

YPiteR & gog i Ul §, A A Al 6w LR A
I3ft BT # gearata i A R |

(A) T T-WEIRH 3T (B) TR T -HEIEH FATa

(C) d&ft s (D) ¥ A% 7

BT A, B and C share Profit equally, A retires. Goodwill is appearing in the-
Balance Sheet at T 12,000 but it is revalued at ¥ 18,000. A will be credited
with
(A) T6000  (B) T4000  (C) T2,000 (D) None of these
A, B, 31 C GWF &9 4 @ Si2d & | Aﬁﬂﬂ@m%w-ﬂmﬁr? 12,000
Rt 2, wig 31 7 18,000 TITIFAIHRA K1 8 | A wm s gy

(A) 76,000 . (B) T4000  (C) X2,000 = (D) i d e
'"‘--.._______

— — ——
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132{ At the time of retirement of a Partner, Profit on revaluation will be credited to
(A) Capital account of retiring Partner
(B) Capital account of remaining Partners
(C) Capital account of all Partners
(D) None of these
wrriteR & fafa & amg T T T T ST R |
(A) WTTieR & §ft @ra 3§ (B) == gU NmfeR & gsft @
(C) i wrfter ¥ geft @m § (D) T & HS T
133, An unrecorded asset realised at the time of realisation is credited to

(A) Realisation A/c (B) Revaluation A/c
(C) Capital Accounts (D) Current Account

& oW e it ) smffaea uiwmhy o ST |
(A) THRIHWIER (B) e @ (C) 45 @ (D) = EE

4. Loss on amalgamation is debited to A/c by the Transferee Company.
(A) Goodwill (B) Surplus A/c
(C)_Revenue reserves (D) None of these
AN AT gRT GHHEAT T TheH 7 e TR s 2 |
(A) =i @ (B) afemy @
(C) ¥ it ity (D) ¥ 8 rE TE
1350 An enterprise controlled by another enterprise is a
(A) Parent (B) Subsidiary
(C) Group Company (D) None of these
s 3T A1 26t 3 g Faba & 38 wga
(A) Te B) TMuEHE  (C) WEEE (D) FHAFETE
136. Profit eamned after the date of acquisition is |
g:i‘Revenue Profit éB% Capital Profit
C) Current Profit D) None of these
$ H AR FFAAGATENE
(A) AR (A7) &Y (B) ‘{u‘ﬂ'{"ﬂﬂ
(C) | em (D) T4 HIE T
37 ives the li ential Creditor.
VS  EE E n @
A R A g A 2 |

(A) FHC (B) ¥ D (C) THH (D) TG

J,ﬁ Opening Stock ¥ 5,000, Purchases ¥ 15,000, Direct Expenses I 2,000,

Closing Stock T 2,500, Profit will be _ )
iR ©is 2 5,000, 379 T 15,000, 38 =47 T 2,000, AfdH & T 2,500 @

iE Ryt
(A) 20,000 (B) %19,500 (C) 221,500 (D) 22,000
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|
 /1adex pumber for bas vear is 3
t 17/ In 5 % %qm always %onmdered as
(A) 100 (B) 101 (C) 200 (D) 201
pind the Mode of the Set (8, 5, 7, 10, 15, 21, 5,7, 2, 5
W 2857 10’15*21!517,2,5)%ﬁq%§'6;$ﬁﬁﬁ)ml

(A) 15 (B) 21 (©) 7 (D) 5
/The suital?lf:‘-‘ average for qualitative data is
.(2) :I{cfliran (B) Mean
(C) Mode D) G ic M
%F.T‘%{Q % (D) Geometric Mean
(A) R (B) W (C) wga® (D) TN AT

1‘[ [f the mid points of the classes are 16, 24, 32, 40 and so on, then the
magnitude of the class interval is

af ot 2 e g 16, 24, 32, 40 37K 31T w6 &, At~ ot RETT 8

A) 9 (B) 8 C) 7 (D) 6

uf Quantity of manufactured goods are sold at which total cost equal, is known as
(A) Cost Point (B) Break Even Point
(C) Revenue Point (D) Quantity Point

g fafg, aﬁwﬁamﬁwﬁwﬁ%gﬁm%wm%, el §
(A) ey (B) dgw-wRfigEC) wmfig (D) wREmiEg
144, All choices for decision that are easily available to Managers are classified as

(A) Outcomes (B) Actions (C) Events (D) Distribution
STaETTE ) iy % R gt w9 &y ot e H anfipa fru a7 |

(A) qfomH (B) T (C) & (D) T
148 Loss on sale of an old car is Debited to the
(A) Car Account ” (B) P &L Account =
(C) Depreciation Account (D) None of these E&;
Ww%fﬁﬁamgmw#ﬁ%ﬁz%m%‘al '
(A) FREH (B) &M AN g @
(C) grugmE @ (D) ¥ %18 TE
1467 P & 1 AJc is prepared for a year by following the
(A) Periodicity concept (B) Going concern concept
(C) Cost concept (D) Consistency concept |
T ¥ e oy T g1 Tl % A G AR e S R )
(A) frraesTeli U (B) orHfie s
_ (C) & rauren (D) I&q aURon

~— N . o
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47 Which are also called “Payments by results” ?
(A) Allowances (B) Claims (C) Incentives (D) Fringe benefits

%ﬂﬂﬁ*wﬁvmmug!m"mmm%? _
(A) W= (B) <m@n (C) STedTEd (D) et @y
T’he most basic requirement for a firm’s marketable securities is
q‘;? Safety (B) Yield (C) Marketab:llty(D) Transaction
wiofer 1 T8 gt eyl §
(A) gtan (B) 39 (C) faskaan (D) &
\1/49’ SEBI Ombudsman was introduced in which year ?
SEBI wiehuTet e ad o s o v & 2
(A) 2000 (B) 2002 (C) 2003 (D) 2005
150< The rate of Discount in which NPV of a Project becomes zero is also known as
(A) Average Rate of Return (B) Internal Rate of Return
(C) Altemative Rate of return (D) None of these
w21 g, fored wioge it . ft . s S I R, 5w ft FEeTaT 2 |
(A) 3haa gfoee (B) iR whed &
(C) dfeyes ufemer & (D) T & his &l
451, The EOQ can be calculated by using which of the followings ?
(A) Graph (B) Table (C) Formula (D) All of these
ﬁmﬁﬁ%&%wé.aﬂ.ﬂ <6} o <Y Tt ] P
(A) @R (B) awoft (C) & (D) A=t

ﬂ/ Which Procedures are provided to make the electronic records and digital
signature secured ?

(A) Law (B) Security (C) Protected (D) All of these
¥ o Tl sorag e Rers 31K Fefireet Ridre 2 i 1 % R 4 o £ 9
(a) fafy (B) e (C) wfEm D) A=h
153, Qutstanding salary would be taxable on the basis of
(A) Dues (B) Receipts
(C) Both(A) & (B) (D) None of these
37ed 909 30 6 AU T :
(A) W= | (B) wifw
(C) (A)TE (B)THI (D) ¥ & w1 7

15347 Definition of Assessment Year is given in which Section of Income Tax Act?

s arfirfrm Y form ara 7 Faior ad 6 dfom S 2 0
(A) 290 . (B) 309 (C) 3(10) (D) 409

e e s —" e ——




rent control act is

A) MRY (B) FRv
C) Standard Rent(D) RRV
%ﬁﬂmm;ﬁﬁuq%m%m(% %r ent(D)
3 . ;1 T B) WamA. () amwfwm (D) s,
% E’SNE?S c‘:&i? fre?g; 1S l%;eatt?r than coupon rate, the bond will be valued at

€
u&aﬁfﬁagﬁmmwa‘g'“mﬁ (C) Parvalue (D) None qftheé%

}1}5? The rent fixed under the

(A) ¥& B) g () v (D) ¥ & 1S 7€
l”: E;:a;el ;Edeet IHEDE}];; ap;pruach, the cost of equity is
ncreasi ;
T e s Byt ) Cosn
(A) Faa (B) wdum €) TR (D) ®r
156. m;:;az;e?““ corporate taxes. This is assumed by which of the following
ap .
(A) NI Approach (B) NOI Approach
C) Traditional Approach (D) All of these
WAE e | A=Y e surm g sfa £ 9
(A) .38, 39T (B) WA.3N.ME. 4
(C) ur™ies Iumy (D) F@f g,&ug
O} %
1§9./In case of depression, it is better for a company to remain in
(A) Low gear (B) High gear
(C) Shut down their Business D) None of these
FoeH g dsrisfag__ AwEmEds |
o) PEfm (B) = T
. (C) IUF AN i &G HT (D) ¥ A =1 T
111,53' What are the consideration in designing capital structure of a corporate ?
(A) Trading on equity (B) Cost of capital
(C) Profitabili (D} All of these

T i ) o S & T o A A R/E ?
(A) wnq wemR(B) A @ (C) THEEE (D) T

\Jst. Which of the following has Implicit Cost of Capital ?

: : (B) Preference share capital
| (3} %%._‘;lctz nsuh;ra capital (D) Retained eamings v
§a e A EE SR
(A) wwar 37 of o )
© . (D) W@ 3 3
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‘1,62./ Cost of capifal is lowest in case of (D) Bonds

(A) Deébt (B) Equity (C) Loans
g A A ) o Pream S 8 | 3
(A) = (B) @Ha (C) 3R (D) s

1\_§3./Key advantages of financing through debentures and bonds are :
(A) It reduces tax liability.
(B) It reduces WACC.
(C) It does not dilute control of owners.

;g; Alla;%{ﬂlese N "
Ti~gH g faaqan S yq@ e & ¢

(A) & IR A &erd & |

(B) W& s ... TR & |

(C) ¥ wiferanl & frsrvr i o BiM e 20 |

(D) 3 arfi |
164 Which of the below bank is not a part of Nifty ?
(A) Axis Bank _ (B) IDBI Bank
gg PNB (D) Kotak Mahindra
§ 8 % S R wrum g £ 2
(A) tfom s (B) 37E.€).&1.3m%8. 9%
(C) @, ¥ (D) hIcH Hig=T dh
165" Book Building Process is associated with
(A) TPO (B) Preference Share allotment
(C) Rightissue (D) Private Placements
'ﬂﬁiﬁiv@lm_ﬁﬂéﬁﬁgél . )
(A) 3E. .3, B) w37y amEE
(C) ftrer flm (D) T=ft Faim

166 Bondholders usually accept interest payment each
(A) oneyear (B) sixmonths (C) twoyears (D) 2 months
CSH AT Sl o519 o1 Y™ TSR &g § |

(A) T B) ®:F®  (C) d=d (D) =

167/ %?ic%%%t::tiﬂ::ﬁ :s an example Oéa I?E:Zps{}eciable Asset ?
c it :
Eiroas - EI %? quipment

(A) i (B WS (O Y@@ (D) wWne
1687 Findth_codldgne. o &x

gi:)' ﬁ%ﬂq (B);‘_L"Retum.. ;(.C)-. Safety (D) Tax evasion

_(A) SifEm e @) e (C) ween (D) -3ga=q
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¥
r
!

lg9/ 1f the return of two Secum
{70

d’” The last step of fundamep

- U5 Buddhist historian Taranath belonged to

(A) Positive 1es are unrelated, the co-variance will be :

ﬁﬂﬁ‘iﬁf%uﬁm Bga%eg (C) Zcrg (D) One

(A) TR (B) s () y= (D) T
ow theory relates tg

(A) Prnimary Trend
(C) Seasonal Trend (B) Short Term Trend

713 frgTa wafim ¢ (D) None of these
(A) TETE  (B)  srereh v (C) defizm (D) FHAFETE

tal analysis is

(A) Economic analysis (B) Company analysis

(0 Technical ﬂ“;lgﬂq (D) Industry analysis
(A) aﬂﬁim fervegm (B) Huet fergeraur
(C) ThHTeh! Targeigo (D) Ja fergergor s
JZ/ Which of the following is tax saving investment ? B
(A) Fixed Deposit (B) Shares
PPF D) Post offi
%ﬁﬁ@ﬁ?m&?{m%ﬁ:{qm (%ﬁm%s;o ce saving
(A) wraty w1 (B) 3w
(C) d.dt.us. (D) W ATha T=a
{75, Return on investment is determined by
(A) Net Profit (B) Capital employed
C) Net worth (D) Net Profit & capital employed
wufoea _ gr i@ g? |
(A) g™ (B) i g3 et
C) TE T (D) W& o™ AR wh g8 Toft

. The script of the Harappan people consisted of
A) a family of quasi-picto saggle% writings
ometrica
g : gﬁ#&nﬁ%ﬁ of both pictures and geometrical shapes
D) None of these

ferfy o gram
ﬁ?ﬁﬁmmﬁwaﬁ (B) =il stpfy ot a0t

(€) Rt i st Fgfa 1 e (D) T @ 9 T

c M li D) J
g% Tibet (B) Chm% & (C) Mongolia (D) Japan

@) frem (B F (C) Wi (D)-3mm. .
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17é The great Indian Phi ikara advocated
gr ian Philosopher Sarikara wdvaita(D) None o  these

(A) Advaita (B) Dvaita (C) Vishis
TR W greifes wriie gl femaa Ftd 4
(A) 3ed (B) & ) aRmega (D) T A IR T
lj-f The Arab conquest of Sind took place in 712 AD under the leadership of
(A) Muhammad bin Kasim (B) Subuktagin
%C) Mahmud Ghaznavi (D) Qutub-ud-din
F A f orafm s g dg
(A) HeRe fom i (B) gEHaATE
(C) 7&g ol (D) FgE-35-4H
yﬂf Which of the following pairs of kings & dynasties is correctly matched 7
(A) Pulakesin-Chalukya (B) Bhoja-Chauhan
(C) Amoghavarsha-Pratihara (D) Dharamapala «#Rashtrakuta
e | 91 T 3R I AN H gH L8 ?
(A) TRRA-TTH (B) iiwstEH
(C) 3Fieay-ufaER (D)~ ErTE-TESe
179 Kanchi was the capital of
(A) Chola (B) Bahmani© . (C) Pallava (D) Vijayanagar
HIEl 1 TIYTT &
(A) =F (B)- =& (C) veoid (D) fasgTr
. The Peacock Throne was made for ' |
(A) T ahangir (B) Akbar (C) Shahjahan (D) Aurangzeb

wrfEes - w RS
(A) &t (B) 3IFHR (C) smEstgt (D) =w

]@.I./Akbar founded the Din-i-Ilahi primarily to
(A) put an end to differences between the Hindus and the Muslims

(B). establish a national religion which would be acceptable to the Muslims
and the Hindus

(C) ensure racial and communal harmony

(D) form a religious club

FFHA Y TA-T-FATEN <hl T h ot Srerferes &9 9
(A) forg iR Tferm o afi=r TG T 370 I < o | 8
(B) T T i vl e ) feg slgfem v wfiemay )
(C) e IR AT e o A el

.. (D). afis @ EE | 18
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; In 1757, Siraj-ud-daula was defeated by .
ly/ (A) Canning  (B) Hastings (C) Clive (D) Cornwallis
1757 3 TRt 3 33 v o iy

() R (B) &fem (C) Fd (D) FAETE

/ The images in the temple of Ankorvat are those of

(A) Buddha (B) Hindu deities

(C)_ Tirthankaras (D) Cambodian Kings

mﬁﬁﬁﬂﬁtﬁw__ﬁg | - -

(A) T (B) fgidi-2am () Al (D) FeE T
‘w.{_/ The best specimen of the Mauryan art is represented in

(A) Cave architecture (B) Pillars

(C) Stupas (D) Chaityas

TR el T IHE T 38 e A R

(A) THI IRGHT (B) TN C) = (D) <=

13{ Which 1s not a Vedic text ?

(A) The Sml‘iﬁm (E) eX aMm SE)rhe Brahmanas

(C) The Upani (D) The Angas
w1 a1 A qe-Te T R 2

(A) sfa (B) wmm (C) IufIwg (D) 3

186, The ancient name of the city of Patna is
(A) Kausambi (B) Pataliputra (C) Kanayj (D) Kapilavastu
YEAT ST YT 19 T |

() A (B) WAT  (©) T (D) Fhewy
{87 The rulers of the Lodhi dynasty were '

(A) Pure Afghans (B) Pure Turks

(C) Timurid Turks ' (D) Turks settled in Afghanistan
Y = % T o

(A) Y€ rarft i B) TG TH

(C) fagit g% (D) TR A W gy

o vas (e SUCE°B) Saull ©) Sha;nbhﬂji_ (D) None of these

@ s @ WO © ™ 0) wiaRg
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189 Which event was not associated with the year 19207
(A) Gandhiji took over the leadership of congress.

B) Non-cooperation movement
(C% Khilafat movement

(D) Chauri Chaura incident
aﬁlmﬁiﬁmmﬁgmzﬂ?

(A) I ] A 3 it o foram o
(B) 3R Higrer ™

(C) famea e

(D) < < wen

‘l)ﬂf The viceroy upon whom a bomb was thrown but he did not change his
attitude towards the Indians, was

{A} Lord Hardinge B) Warren Hastings

C) Lord Curzon D) Lord Chelmsford

AGERT o7 T e e T ] 3 IR o STl 1O g et e e
(A) @Rafén  (B) FWEWT () wRFM (D) W IHHS

198" Which upheavel took place in Bengal immediately after the Revolt of 18577

A; Sanyasi Rebellion B} Indigo Disturbances
%C Santhal Rebellion ED% _Pabna Disturbances
1857 % forera & a1 aren o rafta i ot st wfeq g€ ot 9

(4) T g (B) Frer-wawft
(C) wura fge (D) T MG

192 What is not Ahimsa according to Gandhiji ?

A) Itis a positive state of love.
B) Itis doing good even to the evil doer.
C) Itis tolerating the wrong.
D) Itistruth,
YTl o SFER g w2 2
(A) & 3 ) T TR A1 R | (B) T8 G0 F Ao 1 ¥} S g |
(C) % TTeTd hi HEd el £ | (D) TIAL |
. Who said, “Good govemnment was never a good substitute for self government” ?
A) Raja Rammohan Ro EB; Swami Dayananda
LgiiRamakrishna Paramhansa D) Swami Vivekanand
g1, “37e! BN 1 M T - o Ford e o e Tl oft
(A) TN TR T ~ (B) wriERg
(C) T TOIEd (D) wmf federe
194 The office of Govemor General of India was created by ;
A) Charter Act, 1813 EB% Charter Act, 1833 °
{C Government of India Act, 1858 (D

Government of India Act 1935
YA H TR AR R, G T |
(A) oty 1813 o (B) Wévafrem, 1833, .
(C) e wew Afiaw, 1858 (D) Wit W i, 1935
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At the time of enactmen
" the preamble ?

(A) Equality — (B) Jygtice (C) Socialist (D) Liberty
T % FRIRH % 3w i e e 3 et T8 o ?
(A) HF (B) =myg (C) wmifvar (D) Faasd

Jlgﬁ-/ If an Indian C?tizen is denied a public office because of his religion, which
fundamental right is denied to him 9
(A) Right to Freedom (B) Right to Equality

©) Right to Freedom of Religion (D) Right gainst Exploitation
afe et Tt i ) T3t o v 2 ek sbrfera & T T,

t of the constitution which ideal was not included in

98 I A TN SHR Y dferg Ry 2 9
(A) TS 1 T (B) WA 1 AT
(C) & Y A 1 AAfrwre (D) ¥t 3 Raess 1 arftren

l}{lﬂ which system of Government, can the Government be removed through
no-confidence motion passed by the Parliament ?

(A) Parliamentary(B) Presidential (C) Federal (D) Unitary
% | I T § Tue g aia 1favar TeaE ¥ R g2 1 Ol & 2
(A) v5¢m (B) W™  (C) wwdwm (D) s

1987 The Rajya Sabha has a life of
(A) 2 years (B) 5 years (C) 6 years (D) Permanency
T ht 3t 2

(A) 29 (B) 5= (C) 674 (D) wurh
99 ' Prime Minister of India ?
U5 Voo ppoins the ime Mimses o ?

(C) Lok Sabha o P w27 (D) President

IR 3 WUTHE

(A) wwg (B) W@ HAMH(C) THIA (D) T
2Ltlﬂ-/lfa Minister loses a no-confidence motion, then

| Eg; %hh: ?:]:i.!;ilsetzg{lf;igln;f Ministers resigns n_g

(C) Lok Sabha is dissolved

(D) None of these e .

O o parg Rt O) FRATH
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